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SST Fall Final Exam Practice

Name KM

Per

All answers must be exact and in simplest form unless stated otherwise. All problems

should be completed WITHOUT a calculator.

1. Find and simplify f(3)+ g(2) for
f(x)=2x-5; g(x)=4x*-2

(3N =2)-¢ a2

19D
, X=Y%7

=G-S=1 4492
2. sdf@e(ﬁ—ifinzp le-2="'Y
3
Box-20=9x124  J7x =44 sV
ATX-20=24, 27 a1 |sh= T
3. Solve for h given: V ==zr’h X - uquq'
3V =Trzh
4. Graph the following function: y>-2|x+1|+3 % 1
R
y>%x—4 ™ unr
5. Graph the solution: y> —%x+1
y<T
5. r~
‘f_ ll/
6. Simplify: (~2°)(=32)(4i"%) 1 h; >
19 . 30
Q e ¥
T % \
U @‘; 'C':"\ 6. "2‘-1
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7. Find the equation of the line parallel to
y= %x —4 and going through the point (-10, 6).

Leave answer in slope-intercept form.

fﬂ-—(ozg(xﬂo) Lj__(é; %)( t2<

8. Factor: 8x’ +27

k |20/ 9. Solve: 6x*+23x+20=0

(3w +YX2xB)
/ /2%\\

10. Solve using quadratic formula: 2x’ —x+5=0

Simply the radical, if needed. Remember you can have
complex numbers as solutions.

12VT-4(E)  j£yI-40
T 2@y g

11. Factor: 9x*-16

12. Simplify: 2(4x* =3x+1)=3(x-2)

§x*-x+2-3x+b

13. Solve and simplify: 2| 4x+3|= 22 [Ux+3]=11
yx43=1l  -Yx-3=1l
Yx=¢ -Yx=
=2 .
3 Léx+6))(¥3)—2 X" 'q/(ol

14. Solve the system: ¢y 10y =-18
Axt12=13 —lox-12y= -2b
Ix=) “22y=-4% Y=Z

X=" 3 15. Factor Completely: )
6x’ —22x* +12x

Ax (3x%11x+©)
AxX (3x —Z.IX--Q’)

q:%xf&

~

s.(Ax +3NUx=ox 19

g l"/3! -S/2.

(£ (V39
10. 4

1. (SX'L( I3X+ L\)

28X =9y + 8

13. X:a’/ -7/2-

. /3,2.)

.

15.<QX(3>(-2YX-3:
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